RENEWABLE

NRG Instructions/

sYsTeEms"”

/

WindSensor Boom Brace

Introduction

These instructions will assist you in installing a boom brace on the 60.5” side mounting boom. This brace kit has been
designed to work with TallTower tubing of 4.5”, 6", 8”, or 10” diameter and provides additional stability and support for the
WindSensor P2546A anemometer.

The items included are:

Qty (2) 4334 tower spacer kit
Qty (2) 4336 braces

Qty (1) 2703 hose clamp

Qty (1) 4338 inline adapter kit
Qty (4) 4342 screws

Qty (4) 4341 nuts

Qty (1) 4335 U-clamp

The tools required are:

5/16" hex socket bit for drill (for 4342 bolt head) — same one used to tighten the hose clamps
3/8"” open end wrench, socket or nut driver (for 4341 nut)

Tape measure

Optional but nice to have: battery operated drill with clutch

This brace kit has been designed to work with TallTower tubing of 4.5”, 6", 8", or 10" diameter. The kit fits differently on
each size. Dimension "L" is from the top of the 3750 mounting bracket of the existing boom to the bottom of the 4334
Tower Spacer:

Tube Size "L

4-1/2" 26-1/8"

6" 24-3/4"
8" 22"
10” 19”

Installing the Brace

1. Remove contents from box, check against list above to see that everything is there.
2. Study diagram of all parts to see where each one goes.

Figure 1 Figure 2

WindSensor_Boom_Brace_4343_Instructions | Rev3.0 | 23 February2015 | support@renewableNRGsystems.com || 1




RENEWABLE

NIRG

sYsTeEms"”

Instructions/

3. Attach one 4334 Tower Spacer to one 4336 Brace with #10-32 x 1” long hex head bolt and #10-32 nylon lock nut,
tighten until there is no more space between those 2 parts but Tower Spacer can still pivot. Repeat. See Figure 1.

4. Thread 2703 hose clamp through slots in both Tower Spacers as shown and attach hose clamp around Tower.
Leave loose for adjustment. See Figure 2.

B Figure 3 Figure 4
5. Attach U-Clamp to left side brace and install #10-32 Pan Head Screw with #10-32 Nylon Lock nut.  See Figure 3.

6. Slide left side brace over existing 3390 boom so that U-clamp gets positioned at middle of 90 degree bend in
existing boom. See Figure 4.

Figure 5

Figure 6

7. Position right side brace into U-clamp and install #10-32 pan head screw and #10-32 nylon lock nut. Tighten both
#10-32 nuts to lock U-clamp in place. See Figure 5.

8. With 3390 existing boom level, adjust height of 4334 Tower Spacer pair & hose clamp to correct spacing. Spacing
varies depending on Tower tube diameter. See Figure 6.

9. If location of 4334 Tower Spacers interferes with existing guy ring, loosen existing 2703 hose clamps and lower
boom placement on tower to avoid guy ring.

WindSensor_Boom_Brace_4343_Instructions | Rev3.0 | 23 February2015 | support@renewableNRGsystems.com || 2




L A % 3 13 “ Y < ]
4o ..huu.r...h.u,...u!i.h»uﬁ..,. e It e el U)o~
4 £PeEpsS RS T g TETENE aé.m‘_ﬁ :
" A ES W e [LLYE RULER xw n|
WOOR S08 DN HO4 ATINISEY 30VHE | o e 1
A rete T e A IA 2018 Yo dz
| SAISASOEN S SERT sni Al HFan N s b8
4=A10
30%N8 wmmme/
P=ALD /
LON LPERS G
i/ F=ALD . e 3
E SWTIIT SEers R S L=ALD
/.// ™ dAVI3 ISOH £0425
-
3 //// Kl
lz./. R
.......{. ..//./ Z=A10
— R T A HAOYCE HAMOL $EEPS
e f../....
-.-.I-I.”....f
IlJ.rlrb-\f'
ARVID 3S0H 20228 ONILSIXS
/ / WCOE ONILSYS
Bl /
5 g o 7=A1D X
s Y M348 ZREFS y
PN SNOXA /z./
S—=ALD LM H3LdYaY INITNI SECkS
b
“
——
= &
3
o <
3Z1538NL MIIA 2OL
o o~y CAUMIR IR e
. nny RLaLil s CTVIATH Y AULERGAY 4 LA e Te m
- e AL Ty ek DD S K 19 DT Sy YA e st 100
v < s

i

i £ '



